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Answer Key ¢ Lesson 1: Invented Strategies

Teacher Guide

Name Date

Grace and Jerome Problems (TG pp. 1-2)
Homework

Questions 1-5 B Rl Mt .
5+7:OI'—7:5 Thank you.

12—-8=[4]or8 +[4]=12

2.
3.
4. $8 +[83] = $11 or $11 — $8 = [$3]
5. $8 + $7 = [$15]or[$15] — $8 = $7

C {Momework )

A S S S S S S S S
1t

P S S S S S S
1
01 2 3 45 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

1. Grace has 12 pencils. Jerome has 5 pencils. How many more
pencils does Grace have?

Number Sentence:

2. Grace has 5 nickels. Jerome has 7 more nickels than Grace.
How many nickels does Jerome have?

Copyright © Kendall Hunt Publishing Company

Number Sentence:
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3. Grace has 12 books. Eight are hardcover books. The rest of
the books are paperbacks. How many paperbacks does she
have?

Number Sentence:

4. Jerome had $8. He got more money for helping his aunt. Now
he has $11. How much did he get for helping his aunt?

Number Sentence:

5. Grace had some money. She spent $8 and now she has $7
left. How much money did she start with?
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Number Sentence:
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Invented Strateg

Answer Key ¢ Lesson 1

More Grace and Jerome Problems

or
12 or

or—3=9

Number Sentence: 7 + 5

[(12]-5=7

Number Sentence: 7 — 5

o~
Il

I g 2
o - | __w

I X ¢ n o0 = +2
1_0n++G2 v —
: = .9 . . .
S8 o v <m (&)

[
Gme . . .

190UBIUBS JOqUINN

aney Aayy
lm Auew moy ‘alow ¢ puly A8y} §| *UOI309]|00 J08sUl JIBy} Ul sBnq g aABY BWOIS pUE S0BIL)

0c e 8 Z 9 G ¥ € 2 W 0o 6 8 L 9 S 14 € 4 3 0
<&—! I L I - I I L e L ' I - I I I L I
o T T T * T T T & T T T * T T T T T

‘nok yuey digy osje Rew weabelp 40 2an401d v/ ‘saue.y uaq. 40 ‘aul| Jaquinu aya.
“(sueaq 40 sajuLad) 5493UN0D 95N KeL SYS 40 9H "YDES 10} 90USAUIS JFGUINU B S3UM PINOYS PlIYo ANOx
'5U01399]|02 J4jay4 4N0ge Wwaqoad yoea an0s pliyo Jnok digH 'sbulys 109]|00 01 931 WIS puE FoRID

Jaquisi Ajiwied Jeaq

e — VoMWY

ElleTg]
SUIDNpAURAWOD Bulisiiand 1UNH I2PUY © WBpAd0D

'+

TG - Grade 1+ Unit12-Lesson1 |

Homework Master

Teacher Guide - Page 1

Copyright © Kendall Hunt Publishing Company

Copyright © Kendall Hunt Publishing Company

Name Date

2. Grace has 4 rocks. Jerome has 8. How many do they have altogether? Show or tell how
you know.

Number Sentence:

3. Grace has 7 baseball cards. Jerome has 5.
A. Who has more?

B. How many more?

Number Sentence:

C. How many cards do they have altogether?

Number Sentence:
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Answer Key * Home Practice

Teacher Guide

Name Date
: . Part 2. Fact Families: Group A (TG p. 1
Unit 12: Home Practice PA(TGp.1)
@I Addition Flash Cards: Group A Questions A-E
Take home your Addition Flash Cards: Group A. Ask a family member to
choose one flash card at a time for you to solve. Sort the flash cards into A. 3 + 1 = 4 B. 4 + 2 = 6
three piles: Facts | Know Quickly, Facts | Can Figure Out, and Facts | Need to
Learn. Clip the cards in the Facts | Know Quickly pile together and place 1 + 3 = 4 2 + 4 = 6
them back into the envelope. Practice the facts in the last two piles again.
@I Fact Families: Group A 4—1=3 6—4=2
Write the fact family for each fact. 4 —3 =1 6—2=14
AR R C.34+42=5 D.2+2=4
2+3=5 4—-2=2
5-2=3
C.3+2=___ D. 2+2=___ 5—3=2

E. Responses will vary. Peter got one of the fact
families correct but 0 — 1 does not equal 1. If
you have nothing you cannot take one away

& Doyousgresiwith Reter? Whiy-crhy hot? from it. You would actually have one less than
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Part 3. Addition Facts to

Name Date Practice (TG p. 2)
@D Addition Facts to Practice .
Questions A-K

A.2+1:|: B.0+2:|:|

A. 3 B. 2
c.|:|:2+2 D.1+1:|:| C. 4 D. 2
.1 4
cori-l] e [Josus E F
G. 6 H. 5
G.D:4+2 H.3+2:\:| L 6 J. 3
L 2razl ] i K. Answers will vary. Possible response:
K. Show or tell how you solved Question G. I counted on 4, 5, 6, SO
4+ 2=6.
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